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N = 0 &8 AFH Y & A AN
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2AN: 32Sal
HH: HEOHY NESH(UNTDUE/YBHE)

ool BEFE DT (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
HYE A 4,467,097 4,173,677 293,420

=2 18,491 18,491 0
[= 153,988 151,988 2,000
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[= 153,988 151,988 2,000
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ANAE 29 o 22 743,559 713,559 30,000
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01 XA 2 E F SH 169,000 139,000 30,000
Ofata = g=28&) WAl
30,000,000 *1CH 30,000 0 30,000
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=2 6,720 6,720 0
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LAENDS0IS AR ALS<E E> 2,000 0 2,000
= 2,000 0 2,000
307 Q12+0| & 2,000 0 2,000
[ 2,000 0 2,000
02 DIZAAAIYER 2,000 0 2,000
OLLNBS0S K2 AY 2,000,000 2,000 0 2,000
[= 2,000 0 2,000
AMHI A BA G 925,395 865,395 60,000
AOIE 29 2 8% 925,395 865,395 60,000
201 LBt2A Y 315,000 255,000 60,000
01 At 22l H 71,660 11,660 60,000
O1.Y8t=2H| 60,000 0 60,000
-2ztol 2d=x HE 29 60,000,000 60,000 0 60,000
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401 AlEHIZ =20 200,720 0 200,720
01 Al&HI 200,000 0 200,000
Oa3320/W0] & FH(ZLdUH+==F)
200,000, 0002 * 14l 200,000 0 200,000
03 Al& 2 HH 720 0 720
OS32A01Tt0l & 25 AMERUYI
200,000, 0002 *0.72/100%50%< & 2¢> 720 0 720
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